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1. 

(12 + 12) ÷ (1 × 3) =

A. 22 ÷ 4

B. 24 ÷ 3

C. 21 ÷ 3

  

2. 

2 + 4 + 6 =

A. 2(4 + 6)

B. 4 + 2 + 6

C. 2 − 4 + 6

3. 

0.5  0.4

A. >

B. =

C. <

4. 

(150 ÷ 3) + (10 × 3) =

A. 175 + 30

B. 15 × 30

C. 50 + 30



5. 

2(3 + 4) =

A. (2 + 3) + (2 + 4)

B. (2 × 3) + 4

C. (2 × 3) + (2 × 4)

  

6. 

500 ÷ 2.5 = 

A. 750

B. 20

C. 200

7. 

A dish is 2.89 in. tall. 

It has 1.82 in. of water. 

About how much more room is left?

A. 0.07 in.

B. 7 in.

C. 1 in.

8. 

5
6  > 

A. 7
6

B. 8
12

C. 7
8



9. 

0.25 = 

A. 2
5

B. 1
4

C. 100
25

  

10. 

102 × 0.4 = 

A. 8

B. 400

C. 40

11. 

Each bottle is 1
2  liter.

The store sells 4 1
2  liters of .

A. Soda B

B. Soda A

C. Soda C

12. 

3
5  ÷ 2

5  = 

A. 3
5

B. 1 1
2

C. 6
25



13. 

1 1
2  ÷ 3 =

A. 2
3  × 3

B. 1 1
2  × 3

C. 3
2  × 1

3

  

14. 

( 1
2 ) y = 

A. 2y − y

B. 2y − 1

C. y
2

15. 

2 2
3  × 1 1

4  is about 

A. 4

B. 5

C. 3

16. 

Each bottle of milk has 1
2  gallon. 

Sara buys 7 bottles. 

How many gallons of milk does she buy
in all?

A. 14

B. 7

C. 3 1
2
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